2019. 5

% Z-coe

8.5 8 M3 e

RO F5



= &

I. AR

]

—y ™
oK
< Wo
ol Ho

m <

_. =0
<0 H
.
%0 Kk
in O

Io. NFA =

ofo
1
=
il
J
K0 M
ol Hi
Hl o
nl KF
-

00

o
KH




=]

ol
KO0

X RHH SO|A EF

12 L =

b

’ oio—l—b’
1

ofll

o

o
Kk

%0

it

Kl
or

ofl

oK

ol

ol

il

)

o

=

or

!

A
CHEEOF 7

1) Oj2h

ik

or

mjn

ujo

Al

3) - (=) 0= (=) =
—_ EILY g —= EILY -
=T, ADl‘
I, T |_LI:
= T E X K | O 0O ,Io|_)\
I:||-Eg
— 0= 3D

4
KO

oK

ofl

Ql
=

1) ol
0l A|: 20
1 20191 62
62 2523} ~ 28
(=)
, 3 4

Jol
=

[y

4L

ol
%
ol

I

2) MEMF

3) A
M= 2019
3 62 5Y(=
2 5%
)X OO & H==
M2=(hicee@j
@jbn
u.ac.kr)

ujo



M54 =

S _ Q@ g
qo| 2 o o T 3
g o o 1 -
0 —_ ||_ AO l
) O K1l < 9
() WH_ RO o %
X0 ~ d
=~
ofr W e
E " = 2 Lo
o wl N0 Q o il
= %0 wlr S O _
o o o+ o o0 o o
o ~ Pl S KOz o
o1 S LHo
2 &0 R
<r <
<a e
Ka K o
G = o il
o pal ] =<l Kl —
ﬂ = N = N I_|__||_
O oo oo o
O O Ho
s &
= o3Z o o 2 ST o
10 ~ <d — <d
= RE RE
LN —y 1 <1 = <4 =
ﬂ D._A o - N o - N
O ) [ ! |
T & O S, ]
uo ~ =
o o o o o
= = = o~ =
. N ™ ) o)) N
~d — — — — N
s 2 2 2 2 )
£ 4 o o o o o
o ﬂ ﬂ 0. e
[ea) N o™ 0] (o))
o — — — —

2
(<)

EOZ MEF L

i1

2. 8

1) Ojch

F7h2

K4
~O

37 2o &4

=
[S)

opl| KO | RO | KO
ol B | T T
~O| @o | ®o | ®o
{Flvw | o | O
N[ on |

o | oF

s ARE
| W
o |2l
D
S| MK
I o WX
E.___.A..ﬂ
ul | 00 | %

KF | KF

| g

K| K

o

101

==

<

-

wa

I Hofsiso=

100

_

=

o0
Il

LHo

ol

.

Ni|

RF
0

jo
o
ol
1

<
|
"l

H|

wa
oK

ol



o Xt Al g * NELYE
14:00~18:00 - =Ee Pl
' 4; T |mE2oE - E2 oldug
6.25 “H - Edurone 250 EZ2 ZEIP|
(3)
19:00~22:00
GH) m C2E Q|2 4l A& - Edurone 250 E2 XZI5||
- OfF0|= E2 0|2 9! K{EZAH01M ArES7|
09:00~1200 | _ c2 oz ol A - 2IE 52 Ofifst|
(3H) - - 2fojd EZ gl d7t8 =2 o)
6f6 - 298 C=2 9 2fojd EE2 A
=h
13:00~18:00 - B2 AIE0M MY
m C AlA
(5H) T - E2 i Az
H 2 METE M AES st oY LES X|F Ee
@ AtE3Td Atskt 0|2 S H5 U=
n J|CHE 1}
- ApsX FH A QX E ISt AFEE= CHYe AN S22 /2| et&5S &5t0 At
SXAt Ao CHoH ofo|C|of H=
- 4XF AT AlCHe| Rt XtsAt JHES| Olset 88
= M2
o Xt Al g * NELYE
0N~ _ | HisSk74 Ol 1T [m]]] =x
1400~1800 | OFE0[ie 7| /Al OFFO0| = 7HE%+_O ol 2 gpgl 7|1X
(4H) - OFFO| MA mZJefdl
6.25
@ 19:00~22:00 - OF=0| MIAf ZEayn
' T | m OFRO| 7|E/AIS R e
(3H) - OFFO| FH AMX| =224
- A8 ApSA 7|12 T2
09:00~12:00 . ETCL _I%_r | e
a3H) = XSS RSAL 7|2/AE | - HoiE Sln] =234y
6.26 - 2IRl =N 2l =28y
)
00~18: _E22EA T zZHol
1300~1800 | oray KK Al SRR =27 H_o
(5H) - e RkSk Z2HE
H 2 METE  XAEFY KT, 2435 dAM &

_3_



n J|CHE 1}

._|Im_”_

O|&sto] HIolH & 3 2= HOf

[EZC AME

A0
. HE2Ue

S
=
U
0 o
A
s
olo %0 = W0 2O
= _ KIr | 8ol e
BB <u 2
o+ < = A KIr o S KT
T B oom | mk T
Xl et | AR | A5 XX
G| Sg | go | R
™ E_E% oo w1 A._Ouuu._mmn_l =
ol o H © o 0o o g |
S gomw | wo | gHmm | 5
o | KX | Zap | ubuuwluy
X U Kir o ol Y W o oo u|
o on KM LUNG} ou <[ <1 < N
u
0o
i el el {n K
> <t <t < A
[ . 0 |__A|O -_
K < B o o
=z K KIr 5 mu_“
oy mm mm H) °
o = i ul R0
e 3 3 ? Bl
o X X <l {m
] [ ] [ ] ] <M
| 3 3 3 3
M| & q -~ N o <
7 I QI 7 I 7 I
o X o o @ o
< | 3 S S S B
S S 3 e
El
=3 n = o =
N ofll N
m___ [Ce) m_n\ [Ce) ._/nw_\

w0

&
&l

-

KO0

Ho
oill

b

Oto| [0

E 19l HiX|

=
10

i

KK



50
m_m

=
10

oK

4
4

1

4
b

oll

-

ol

252 (=) ~ 28Y(5), 3

ofll

6

F:

~d

1 7

o

=

AlH

(=

2 o

191/200,000

2) &I

ol
N =

AL
=1

bof| et =H

o

)

|

=)

Atz

1 Al

=

m]

O

10
I
=]
T
= _
un|
ER= —
olo “_ R ulo
- U
H —
= _.E = m_
= = <r
.l iJ
= =)
< u N
) K0
- ._anﬂ -,
IA
Bz or
[} |r_“_
on ¥ 4ar
T Ho N
<8 5
= oH o
I o ()
o g
H =~ |
o
T W W
< —_
R T =
T << m_
- ol Bl I
m._ B o ofr .
N|oodn | F
u o jor wor r
IF | s ofo Mo Ho
=
orl Ho
= o o
B o wor =
of T O N_w_l
T I oH o
or &) HO K
zl

o
KH



